

Let X1,..., X. r.s. with PDF Z(x; 0) and T=T(X) U.e. of Θ . Also we suppose $T_{1}=T_{n}(\underline{x}) \rightarrow \Theta$ in one of the fullowing ways; a) lim Ty = O with grobability 1: P(lim Ty=0)=1 We devotate To almost surely) b) $\lim_{n\to\infty} P(|T_n - \Theta| < \varepsilon) = 1$ or $\lim_{n\to\infty} P(|T_n - \Theta| > \varepsilon) = 0$. We denotate Tu -B.

Definition

The sequence of estimators The is "weakly consistent" for Q if T, -> Q VOED and "strongly consistent" For O if T. == O VOEO

Theorem Let Tu sequence of estimators of O. JA: i) Ty is an u.e. of O and $\frac{1}{10} \lim_{n \to 0} V(T_n) \to 0$

then The is a weakly consistent (we will call that "consistent" from now on) estimator of O.

Prast We need to grave that Ty SO

From Chebysher inequality: $P([T_u - E[T_u]) \leq \frac{V(T_u)}{\epsilon^2}$ Since fIT_]= O (From (i)) and V(Tu) -> O (From (ii)) we have $P(|T_u-G|>\varepsilon) \rightarrow O \implies \lim_{u \neq \infty} P(|T_u-G|>O) = O$ $= \lim_{n \to \infty} P(|T_n - \theta| \le \varepsilon) = 1 = T_n - S \theta$ Ц Generalization Let The sequence of estimators of g(O). It: i) $\lim_{y\to\infty} EST_7 = g(\theta)$ $\frac{1}{100} \lim_{n \to \infty} V(T_n) = 0$ then Ty is a consistent estimator of g(0) Example Let X2, X2 Y.S. with PDF Z(x; 6), then X is always a consistent estimator of the population mean. Indeed, we have : $f(\bar{x}) = \mu \implies \bar{x}$ u.e. of μ $V(\bar{X}) = \frac{5^2}{2} = \frac{V(r)}{2} \longrightarrow 0$ Note The consistency criterion can't lead us to good estimators on its any. For example, if Tx consistent, then T' = = T+Q(1), where Q(1) = 0 is also consistent Frangle Let X_1, \dots, X r.s. of $N(\mu, \sigma^2)$. Prove that $S^2 = \frac{1}{\sqrt{-2}} \tilde{Z}(X_i - \bar{X})^2$ is a consistent u.e. Solution

 $\frac{(v-1)S^2}{\sigma^2} \sim \chi_{v-1}^2 \quad \text{so } f \left[\frac{(v-1)S^2}{\sigma^2} \right] = v-1 \implies f \left[S^2 \right] = \sigma^2 \implies S^2$ u.e Also: $V\left(\frac{(v-1)S^2}{S^2}\right) = 2(v-1) \implies \frac{(v-1)^2}{T^4}V(S^2) = 2(v-1) \implies$ => V(S²) = $\frac{2\sigma^4}{v-1}$ $\xrightarrow{\sim}$ 0, so S² consistent estimator of σ^2 .

Example Let X1,..., Xv v.s. of Bin (N, 9) with PDF $\mathcal{X}(\mathbf{x}; q) = \binom{N}{q} \mathbf{x} (1-q)^{N-\mathbf{x}}$ a) Find M.V.u.e of q b) Find the (R-LB c) Efficiency d) Consistency Solution a) We can show (in many ways, e.g. FFD) that T= 2xi is a sufficient and complete statistic for p. We have: $\widehat{A}(x;q) = \binom{N}{q} \widehat{a}^{\times} (1-q)^{N-\times} = \binom{N}{2} (1-q)^{\times} (1-q)^{N} =$ = exp{xlog(1-p) + Vlog(1-p) 5 () = $=e_{xq} \{T(x) \cdot y(p) - B(q) \}$ h(x)so, since the suggest is independent of q, T belongs to the EFD. The joint PDF is: 7(x;q)=exq { ZT(xi) u(q)+v B(q)}. 17 h(xi) so T*(x)= ŽT(xi) is sufficient and complete for p. Also T* = IT(xi) ~ Bin (UN, q) => f[T*] = VNq ~ => f[J]=q. J is a function of a complete and sufficient statistic, so from the Lehmonn-Schete theorem it is m.v.y.e of $\int V(T_{N}) = \frac{1}{\sqrt{2}N^{2}} V(T^{*}) = \frac{1}{\sqrt{2}N^{2}} V(1-p) = \frac{1}{\sqrt{2}N^{2}} =$ and The is an u.e. of q so it is consistent.

b) (R-LB: $\frac{1}{\sqrt{3}x(q)}$, where $J_{x}(q) = E[(\frac{3}{2q}\log F(x,q))^{2}] =$ We have $A(x,q) = \binom{N}{x} q^{x} (1-q)^{N-x} \Rightarrow$ $= \log \mathcal{F}(x,q) = \log(\mathcal{N}) + \chi \log q + (\mathcal{N}-\chi) \log(1-q) =$ $= \frac{1}{2} \log \mathcal{F}(x,q) = \frac{1}{2} + \frac{\mathcal{N}-\chi}{1-p} = \frac{2^2}{2^2} \log \mathcal{F}(x,p) = -\frac{\chi}{q^2} + \frac{\mathcal{N}-\chi}{(1-q)^2}$ $= \frac{1}{2} \log \mathcal{F}(x,q) = \frac{1}{2} + \frac{\mathcal{N}-\chi}{1-p} = \frac{2^2}{2^2} \log \mathcal{F}(x,p) = -\frac{\chi}{q^2} + \frac{\mathcal{N}-\chi}{(1-q)^2}$ $= \frac{1}{2} \frac{\mathcal{F}(\chi)}{1+q^2} + \frac{\mathcal{N}-\mathcal{F}(\chi)}{(1-q)^2} = \frac{\mathcal{N}-\chi}{q^2} + \frac{\mathcal{N}-\chi}{(1-q)^2} = \frac{\mathcal{N}(1-q) + \mathcal{N}_p}{q^2} =$ $= \frac{\mathcal{N}}{q^2} + \frac{\mathcal{N}-\mathcal{F}(\chi)}{(1-q)^2} = \frac{\mathcal{N}-\chi}{q^2} + \frac{\mathcal{N}-\chi}{(1-q)^2} = \frac{\mathcal{N}}{q} + \frac{\mathcal{N}-\chi}{1-p} = \frac{\mathcal{N}(1-q) + \mathcal{N}_p}{q(1-q)} =$ ■ <u>N</u> <u>q(1-q)</u> So the (R-LB is: $\frac{1}{\sqrt{\frac{N}{P^{(3-p)}}}} = \frac{q(1-p)}{\sqrt{N}}$ $(V(\overline{J})) = \frac{P(1-q)}{JN} = (R-LB so \overline{J})$ is also sufficient Let Xs. X. Y. s with PDF Z(x; 0). They $L(\Theta; \underline{x}) = \overline{A}(\underline{x}; \Theta) = \overline{A}(\underline{x}_{A}, \dots, \underline{x}_{V}; \Theta) = [\overline{A}(\underline{x}_{I}; \Theta)]$ is called Litelihood Aurction.